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Marginalization  

Question 1 

What was the conclusion reached by the Justice Rajindar Sachar 

Committee? 

Solution: 

The committee came to the conclusion that on a range of social, 

economic and educational indicators the situation of the Muslim 

community is comparable to that of other marginalised communities 

like Scheduled Castes and Scheduled Tribes. 

Question 2 

How can we tackle marginalization? 

Solution: 

Marginalization is a complex and delicate issue and has to be handled 

by the Government very carefully. To rectify marginalization a variety 

of strategies, measures and safeguards have to be undertaken. 

It is the duty of every citizen of this country to ensure that the 

Fundamental Rights of all citizen, whether they belong to the majority 

community or the minority community is protected. It is only the 

effort of everyone that will protect the diversity that makes our 

country unique and promote equality for all. 

Question 3 

What are the consequences of marginalisation? 
 



 

Solution: 

Marginalisation results in having a low social status and not having 

equal access to education and other resources enjoyed by the 

majority communities. 
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